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Q1). How many times are the hands of a clock at right angle in a day?We f¢et

#F oy i ggar Fraei I GASIOT R Qe §2
A). 22 B). 24 C). 44 D). 48

Answer :- 60°
Explanation :- In 12 hours, they are at right angles 22 times. In 24 hours, they are

at right angles 44 times. 12 €€l H, @ 22 SR HBIVT IR ¢ | 24 &¢ H T 44 9]
THAIT R T &

Q2). The angle between the minute hand and the hour hand of a clock when
the time is 8:30, is'5Td HET A FHAT 8:30 ot g AN AT R FS IR A S
&I T ST AT B

A). 80° B). 75° C). 60° D). 105°

Answer :- 75°

Explanation :- Angletracedbyhourhandin172hrs(36012x172)o=2550Anglet

acedbymin.handin30min(36060%30)o=1800..Requiredangle (255—180)o=750 0T
gfa
HeTas172hrs(36012x172)o=2550ahI0Tacedbymin.handin30min(36060x30)o=180c.-

3Ta2THBITT (255-180)0=750
Q3). How many times in a day, are the hands of a clock in straight line but

opposite in direction?Teh f&eT # fohcely ST &St hr Fgar drelt @ # AfheT
o frar A g &2

A). 20B). 22 C). 24 D). 48

Answer :- 22

Explanation :- The hands of a clock point in opposite directions (in the same

straight line) 11 times in every 12 hours. (Because between 5 and 7 they point in
opposite directions at 6 o'clcok only).So, in a day, the hands point in the opposite

directions 22 times. ©IST T FSAT T 12 T1¢ #H 11 I fauieT feRmait (veh & #ielt
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@1 H) Y 5fAa FAT &1 (i 6 s 81 5 3R 7 & i 3 Tyudia feem & s
B g)| dr, T feeT H, 8T 22 IR A9 fRm H SARTHLAd 6 |
Q4). How many times in a day, the hands of a clock are straight?fee 3 frdsir

SR T T g Wl @ &2

A).22B).24 C).44 D). 48

Answer :- 44

Explanation :- In 12 hours, the hands coincide or are in opposite direction 22
times.In 24 hours, the hands coincide or are in opposite direction 44 times a day.12

el #, gsdr 22 aR AT & a1 faudia feerm # gleit &1 24 8et &, gt fe=T # 44
IR [Aerdr g ar faadia feeam A g 8

Q5). Itis between 3 pm and 4 pm and the distance between the hour hand and
the minute hand of clock is 18 minutes spaces. What time does the clock show ?

T ATR IV 4T F AT g AR T A g IR R HFr gg F T Frgdr 18

fReTe &1 a2 T §HY Rareh &2

A). 3:12pm B). 3:27pm C). 3:31pm D). 3:36pm

Answer :- 3 : 36 pm

Explanation :- At 3 o'clock, the minute hand is 15 minute spaces behind the hour
hand.Thus, the minute hand has to gain (15 + 18) = 33 minute spaces55 minutes are
gained in 60 minutes.33 minutes are gained in (6055x33)(6055%33)= 36

minutesThe hands will be 18 minutes spaces apart at 3 : 36 pm.3 &1, fAsTe H g2
g & g & UIe 15 TRl gt T gleh 81 38 ThR, [AeTe dhr gs ol (15 + 18) =
33 fAAC &1 ST91g &8 e 8ld & | 60 AeTe # 55 [Asie Hraga gidr gl (
6055x33)(6055x33)= 36 AT TIRTE 3:36 dof AT 18 fAsTe hr T aT e |

Q6). In an accurate clock, in a period of 2 hours 20 minutes the minute hand

will move over = ? Teh HEIeh TSN & 2 € 20 AT i Irafr A Aae Args =2
A). 140° B). 320° C). 520° D). 840°
Answer :- 840°
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Explanation :- Angle traced by the minute hand in 2 hours 20 minutes,i.e., =140

minutes=(36060x140)o=8400 fA=Te T g3 GaRT 2 € 20 fAsTe & =TT 1T I,

AT =140 AAC=(36060%140)0=8400

Q7). There are two clocks, both set to show 10 pm on 21st January 2010. One
clock gains 2 minutes in an hour and the other clock loses 5 minutes in an
hour. Then by how many minutes do the two clocks differ at 4 pm on 22nd

January 2010 ? &r gf3ar &, a1t 21 STl 2010 &I T 10 g fe@= & forw
foreiRer &1 v a3 v 6 7 2 fRete 9o ¢ AR g e v e 7 5 (A w7
gl STt g1 Y T 22 STeTadY 2010 Y AT 4 g1 Qer T3t 7 v fAeTe i
R B2

A). 126 minutes B). 136 minutes C). 96 minutes D). 106 minutes

Answer :- 126 minutes

Explanation :- One clock show 10 pm, on 21st January 2010 One clock gains = 2
minutes Other clock loses = 5 minutesTime period between 10 pm and 4 pm = 18

hours Required difference= (2 x 18 + 5x 18 ) minutes = 126 minutes 21 SeTax!
2010 ohT Teh TST T 10 d1 E@TAT & Teh T3 oI1eT = 2 fHeIe =g g gl = 5
fAsTe U 10 99 O 4 997 & &I T GAT 3797 = 18 T a2 Il = (2 x 18
+5 x 18 ) fAsTe = 126 A=

Q8). In every 30 minutes the time of a watch increases by 3 minutes. After
showing the correct time at 5 am , what time will the watch show after 6 hours

? Ul 30 fAeTe 7 U u8Y 1 9T 3 fAeTe 96 ST § | Yoe 5 99 FeY qAYT

fe@mst & 91¢ 6 T a1g uEt Shlet A1 gAY @t

A). 10:54am B). 11:30am C). 11:36am D). 11:42am

Answer :- 11 : 36 am

Explanation :- Time gained in 1 hour = 6 minutes Time gained in 6 hours = (6 x 6)
minutes = 36 minutes After 6 hours, the correct time is 11 : 00 am and the watch
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will show 11 ; 36 am. 1 &¢ H T THYT = 6 [AeIc 6 ¢ H I THT = (6 x 6) fHAsIc
= 36 fAeIC 6 U & &I, ST A 11:00 YaTes ¢ 3T €St 11:36 qales e@reaf|
Q9). How many times are the hour hand and the minute hand of a clock of a
right angles during their motion from 1 : 00 pm to 10 : 00 pm ?319T&eT 1:00

ool @ T 10:00 Fo¥ ek 379 aIfeT % SR T3Y T €e HiT 3 AR ATec Hrgs

frdeT SR GHPIUT ST 872

A).9B).10C). 18 D). 20

Answer :- 18

Explanation :- The duration from 1 : 00 pm to 10 : 00 pm is 9 hours and during
each of these 9 hours the hands of the clock are at right angles twice.So, required

number = 9 x 2 = 18 G19gY 1:00 &IF { T 10:00 §1 ek hr AT 9 €¢ g IR =1
9 Tt H ¥ Ycdeh oh GRTT TS! T FAT &l SN FHDIUT U Bldl o | SHIAT,
HGTHR GEAT=9 x 2 =18

Q10). A clock strikes once at 1 o'clock, twice at 2 o'clock, thrice at 3 o'clock
and so on. What is the total number of strikings in a day = ?U& €8T 1 ¥ Th

TR TAAT S, 2 TN AT IR ToTcT §, 3T AT IR Foler & iR s Wl v e
giTell T el TEAT fohctedl g =2

A). 136 B). 146 C). 156 D). 166

Answer :- 156

Explanation :- Total number of strikings=2(1+2+3+.....+12)=2x12x132=156 WgRT
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